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DOMAIN KNOWLEDGE

le  What does the following sign indicate

Q

(A) Drive the vehicle not exceeding 50 kmvhr
(By Drmive the vehicle at 50 km'hr

(C} Drive the vehicle exceeding 50 km'hr
(D) None of the above

Fefafnfien woa =0 owim # 7

(A) =7 50 fediem & sfes 3 =emd
(B) s0 fediga W ame sene

(C) s0 fitsa @ afvs 7 =ond
(D) svdw # | w= Wi

2.  The following sign represents :

(A} Namow road ahead (B) Y-intersection
(C) Road widens ahead (DY Curved road ahead

M-6-A 1 P.T.O.



ﬁﬂfﬂfﬂﬁﬂﬁﬁEﬂMﬁ:

(A) W HEW BEF t (B) Y-=IN0E
[c:}e-mﬂmahﬁir {D]ﬁﬁwwc'ﬁﬁﬂ‘

3. Parking is prohibited in the following place
{A) Blocking & fire hydrant
(B) Near a public well
(C) Lefl side of the road
(D) Right side of the road
freiwfmg &M W o ffez ® :
(A) T TEEZ B FEES T
(@) ©s wEEfw YL F TW
(©) wew % a4 &4
(D) wEE F T SN

4. | Frée passage should be given to the following vehicles :
(A) Police vehicles
(B) Ambulance and fire services
(C) Express and superexpress buses
(D) Private vehicles
Erefafem aEAl W EA o fem WEm ENEY,
(a) TeE % HE
®) wadta st s FE0
(C) uFEa N qrEEHE
(D) Freit =

M-6-A 2




58  The following sign represents.

(A) Restriction ends (B) No overtaking
(C) No entry (D) No parking
frafafem wwa =ofm & .

(A) wfie HarE (B) sl =@
(C) wam iy (D) Wi

6. Which of these places iz the use of hom prohibited ?
{A) Near temples, mosques and churches
(B) Near hospitals and courts of law
(C) Mear police station
(D) Near bus stop
v @ s owe v e oW oawm ¢ 0
(A) wfed, wfeo] ot == ® 9w -
(B) sremmel 3 WA W aweW ® W
(C) e Bvm ® uw
(D) &9 =9 & T

M-6-A 3 P.T.O.




7./ Where you are spproaching an intersection where the yellow signal light is
blinking, what should you do ?

(A} As there is no restriction, proceed at the same speed

(B) Stop the vehicle and wait for the green light to turn on

(C) Slow down the vehicle and proceed only if it is safe to do so
(D) Mone of the above

W AN T A @ vm o w® F, we del fovm oo wee W OR
HH T OF 9eT 7

(A) S fr = wheEy T # wd o @ s
T B) W A d B oA B oW o W oW
(€) mer W W s oghE B W @ e =
(D) svdwa & @ =

. The number of passengers permitted to be take in a private vehicle is recorded
‘1;‘ in : .

(A) Tax token

(B) Hepistration certificate

(C) Permit

(1) Pollution certificate

Feft arn & & 9 1 agEfy 3R aw o st dem owS oW om #

(A) w1 ZFA ; :

(B) weftwre wmmo-gF *

(C) Wi

(D) WENT WA-uE

M-6-A 4



10.

What is the police indicating with this sign 7

{A) Request the vehicles from the behind to pass
(B) Request the vehicles from the behind to stop
(C) Request the vehicles from the front to stop
(D) Request all vehicles from behind 1o tum right
ofe 0 dRE S UM ¥ oued 2 W % 7

(A) ol = @2 4 EE W SN W

@) 9@ @ @6 T T A W e % e ey wl
(C) orF # o = s W OTE oW el Wl

(D) 98 ® oA = = ® % §gEt o fom ey W

Overtaking is prohibited tn the following case :
(A) Narmow bridge (B) State highway
(C) Mational highway (D) Panchayai roads

M-6-A 5

P.T.O.




Frafafmn wmsl 9 sEeiEm s 8o

(A) AT T (B) 2 wEd
(C) i W (D) WaRm # HEE
1. Driving in reverse gear is not allowed on :
¢ {A) One-way road (B) Descending road
(C) Ascending road (D) All of these
fd frm W gERin & oAb W ® o
(A) =3 wEF (B) =lEl wEw
(C) W wES D 3 =it

J;a. What does the following sign indicate 7

(A) Speed limit — 2 km/hr.

(B) Nﬂmﬁ‘yfmvﬂﬂﬂ:&h&vﬁgmﬂmlmﬂ:&vﬁdﬂ:. »
{C) Hnmlrrfmmhiniealmﬂngmmihmimcmheig}m

(D) None of the above

frefafen wees ¥ woiw # 7

(a) W dm-2 FEEAD

@) 2 W A aew e A wwE B f wE wEw
{E}Etﬂﬂﬂmiﬁﬂwﬂmﬁ#m#{mﬂﬂ
D) TeE A A W @

M-6-A 6

L




13.

14.

15.

M-6-A 7 P.T.O.

Before overtaking o vehicle 1t should be ensured tht -

(A) No vehicle is approaching from behind

(B) The road ahead is clearly visible and it is saft 1o overiake

(€} The vehicle in front is tuming left

(D) All of the above

A F AEEE T R WA wF g son Wi o
(A) W@ B F§ awT T o ow #

(B) =M ® wew WE fr@ W ¢ sk s fw W owhw #
(C) 7 om7 = ¥g ™ #

(D) 37 it

What part keeps contaminants from getting to the combustion chamber 7
(A) Carburctor (B) Fuel injector

(C) Fuel lines (D) Fuel filier

A g WY W oweaww den § WR @ wew owm dww €2
(A) FRER (B) & Yot

(C) W@ @ (D) o fire

_Which system controls the temperature of the engine ?

(A) lgnition (B) Heating

(C) Coolant (D) Fuel £
T R TR W S <= frabm ol $ 7

(A) TFm (B) wifEn

(C) #Fe (D) ¥




16. How do you know if you have a problem with the SUSpEnsion or sleering system 7

v/

(A) Your car does not steer properly

(B) Leaks

(C) Uneven tirc wear

(D) All of the above
Mﬂﬁmﬁﬁmﬁﬁmﬁﬂﬁﬁmmlﬂuﬁﬂmﬂﬁﬂﬂfm#?
(A) @t Fw Fw | W wert ¢

(B) wiem

(C) =M fam Uz dm

(D) Twgw adf

The. part of the brake that applies the pressure against the drum is called :
{A) Boot (B)  Thong

(C) Flipper (D) Shoe

W9 faas WR W wR ww v ® e W s owmw & .

(A) T (B) i ‘

(C) T (D) 3

:u;rhtmwlsﬁummuhmkepedalmthebmkmiuapplyﬂuftm:tnmpﬁm
car 7

(A) Force (B) Friction

(C) Disc (D) Brake fluid

R R e R G ——
&7 -

(A) wid (B) e

(C) fe=w D) #F wpEs

M-6-A 8



19.. What will likely happen if you open & hot radiator cap ?

f/ (A) You will bum your hand

(B) You will be able to check the level of the fMuid inside

(C) You will be sprayed with scalding water

(D) You will bum the cap

A am w e F9 oG oA s @ 7

(A) 39 AT TE wEws

(D) #m &w wEE wd @ o # W owE d mwm w@
(C) s T UE oW 9w oW fowsr e

(D) &% F&@ =l

e

fﬂ/‘ﬁfﬂnhiﬁnﬁlﬂl-ﬁvhumym*? u

(A) Buying fuel in the moming when temperatures are cooler gets vou a denser,
better quality of fuel

(B) Properly inflated tires can help you increase fuel mileage

(C) Using an incorrect weight of motor oil can affect your fuel mileage

(D) Driving st high speed can increase fuel mileage

foq wae T faus wwm £ 7

(A) goF % T dud wien W aowE d@E e ¢ oA smmt fem w
www e B R

(B) 3w ¥ ¥ ToOW T UW owE Wmdw wgh o wex Wt wed €

(C) TF T WX B0 W IEm AR Amew s wafad #e wea #

(D) 79 7fa & =m7 =9R 8@ TE uEew 99 wea

M-G-A 9 P.T.O.




2. What s this picture

SN

Knock Sensors

LV

(A) Spark Plugs
(C) Injectors

(D) Safety Pins
ﬂ:aﬁhﬁ?‘ﬁhaﬂ??

PN

(B) #i® Hue
) Tt fog

(A) ¥ wm
(C) o




1. What is this picture 7

{A) Clutch Plate (B} Flywheel
(C) Pressure Plate (D) Wheel Plate
I mEr fEm dw oW & 2

(A) 11 e
(C) ¥ ==

(A) NOS Injected (B) Fuel Injected
(C) Multipoint Fuel Injected (I} Mone of these
L OO T L e— LAl

(A) NOS wamas (B) WA {aws

(C) wedivige W@ Tawis (D) v8 @ w¥ =5

M-B-A 11

P.T.O.




25. What s this picture ?

(A) Clutch Dise
(C) Flywheel
o Wil fRw de w1 & 7

(A) 719 fau=
(C) wordgie

26. What is this picture 7

(A) Suspension Springs
(C) Valve Springs
o wER e ode w & 7

(B)
(D)

(B)
(12

L N o
R
il

(A) TefvA frgrg
(C) =wy fimmg

M-6-A

12

Pressure Plate
Wheel Plate

Clutch Springs
Spring Rolls
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28,

Where does the current go when the key is turned 7
{A) To the battery

(B) To the starter

{C) To the brakes

(I To the engine

o WA PR W W PR W wE Wl wm B 7
(A) W= =

(B) ®=E =

(C) W =

(D) g

What is this picture 7

(A} Pressure P_la!.l: (B) Flywheel
() Whee! Plate (D) Clutch Disc
ww W e o w1 ¥ 7

(A) VR R (B) W EW
(C) ¥ == M) = fo

M-6-A 13 P.T.O.




Ihe battery is made of lead, water and., .

(A) Paim
(B} Baitery fluid
(C) Casoline

(D} Sulfuric acid

M-6-A 14
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ENGLISH

India will become............. super power shonly,
(A) a (B) an
() the (D) no article

The following sentence is divided into parts. One of these parts may contain an
error. Mark that part as your answer. (Ignore punctuation error).

They had / better wait / than to / go.
{A) They had (B) better wait
(C) than to (D) go

Choose the word which is the exact OPPOSITE of the word given below
Mighty

(A) Haughty (B) Forceful

(C) Tough (D) Weak

Choose the alternative which best expresses the meaning of the following Idiom/
Phrase..........

To be well off

{A) Quite far away {(B) To be in comfortable circumstances
(C) Distant (D) Unrelated

Cancel 1
(A) Allow {B) Break
(C) Abolish (D) Approve

M-6-A 15 P.T.O.
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36, Find out the proper order for the given four parts of a sentence to complete
sentence :

l’:ifitwmtim_t:tngn}ﬂ

Q : and ran downstairs 1o see

R : Raju jumped out of bed
E:unSamrﬂufmurrﬁng

The proper sequence should be :

(A) SRQP (B} SPRO
(C} RQsP (D) SROQP

ﬂ}alﬁ:ﬂnkmdynﬁlishadnmmlmditmmmpemudwl

W MYcoorrrersessnnns

(A) days were up
(B) chances were good »

(C) lady luck was happy
(D) fortune was made

38. Fill in the blanks :

i

M R .¥iews on the issue of giving house 1o the employees.
(A) independent N '
®) divergent
(C) modest
(D) adverse

M-6-A 16



3}' Read the passage and answer the guestion :

Daolphins are regarded as the frendliest creatures in the sea and stories of them
helping drowning sailors have been common since Roman times, The more we
learn about dolphins, the more we realize that their society is more complex than
people previously imagined. They look after other dolphins when they are ill, care
for pregnant mothers and protect the weakest in the community, as we do. Some
scientists have suggested that dolphins have a langusge but it is much more
probable that they communicate with each other without needing words. Could
any of these mammals be more intellipent than man ? Certainly the most common
argument in favor of man's superiority over them that we can kill them more
casily than they can kill us is the least satisfactory. On the. contrary, the more
we discover about these remarkable creatures, the less we appear superior when
we destroy them.

It is clear from the passage that dolphins...................

(A} don't want to be with us as much as we want 1o be with them

(B) are proven to be less intelligent than once thought

(C) e i eyt Fur: beag- Sendly o bumpiins

{D) are the most powerful creatures that live in the oceans

40. Choose the answer that names the part of speech of the bold word in the

v i s g
Farmers had very poor erops this year

(A) MNoun (B) Pronoun

(C) Verb (D) Adverb

M-5-A 17 PT.0.




HINDI

P TR FEaw b .
(A) YR B witws wm
(B) W& =m-sm@ 5w

(A) 9% (B) faritg
(C) smsiet (D) * Ferfran
43. wgEEE ww @
“ (A) R ®) T
.- @) i !
M. 'R T o wRew owm ¢oo
M/ (A) Folura (B) ey
(C) w2 (D) sitfis
ﬁffﬂ‘d”ﬂ’qsm'wﬁwmﬂdqﬂt?
V4 S -
(B) Fmn wen

(C) ®9 ¥ smmy weq
D) ®v ¥ sta-ds wa ¥

M-6-A 18




46 Te avmEn d fEed wgw st § 7
v
(A) @H (B) =
(C) (D) W=

47. /Tafem’ &1 wgaw w0 W 2
7 () faf (B) fafgmsi
(C) fafzaf (D) # =\
48. Wl @ wF w @ wEd ¥ !
I{A]E‘i??ﬂ
(B) wgF =
(C) wvimren
(D) ¥ § =

49. ‘arn wimww' ® vww ¥
V()

(B) T TER

(C) wemRe =

(D) #reEy fHg

50, wel =4 % fom fawen g .
V () s

(B) #EeTn

(C) FFEaa

(D) STETEETE

M-G-A 18 P.T.O.




ELEMENTARY MATHEMATICS

51 0.003 x 0.02 =
v (A) 0.06 (B) 0.006
(€} 0.0006 (D) 0.00006

242-2%2+2m=
(A) 0 B) 1
(C) 2 (D} 4

53. What is the average of the numbers : 0, 0, 4, 10, 5 and 5 2

(4) 2 B) 3

© 4 () 5

Hemsl W odmE wWOE : 0,0,4, 10,5795 ?

(A) 2 B 3

(C) 4 D) 5 1

Hzr:'hlﬁnhuhkmﬁnmmdhnawmhmfnrn!ﬂ.lfnhag:tslbﬂ,
7, '
np:ﬁhclm:un&mmﬂh;!ms.uhnwiﬂhnmawhu?

(A) 90.75 B) 91.75
(C) 92.00 (D) 9225

Wi 3 6 vded w § R T oom oww @ show oim 80 § ) ok v
2 viwE A 10 # w0 wWw B F, @ www o odhew owmowm o

[(A) 90.75 (B) 9175
(C) 92.00 D) 9225

M-6-A 20
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Sifﬁmplﬁe the sequence : 2, 3, 5,7, 11, 13, _, | 23; 29

(A) 15, 17 (B) 15.19
(C) 17, 19 (D) 17, 21
T [ WA ;2,55 7, 10,13,_, 2329,
(A) 15, 17 (B) 15, 19
(C) 17, 19 (» 17, 21

ﬁ;“ﬂﬂmti!ﬂmrnﬂufdlm“ﬂifahin}ﬂawhichmﬂs. 4,000 is sold for

Rs. 32007
(A) 14% B) 16%
(C) 18% (D) 20%

wﬁwwaﬁaﬂmqmmt‘aﬁumwa#hmtﬁﬁ
St oW oA ¢ 7

(A) 14% B 16%
(€) 18% D) 20%

ﬂu 4|+ M4 -4 +4 =7

| = il ®) 2

(C) 4 (D) &

5:./1;:

i

then x = 7 v
(A) -2 B) -1
{cy 1 D) 2

M-6-A 21

P.T.O.




50,

o0,
o

Eﬂ'x:?

(A) -2 (B} -1
(S (o) 2
In & mixture 60 litres, the ratio of oil and petrol is 2 : 1. IT this ratio is to be
1 : 2, then the quantity of petrol to be further added is

(A) 20 Titres (B) 30 litres

(C) 40 litres (D) 60 litres

60 Wit foew H, W9 oK W oW s 2:1 & 1 Wk W seum
1:2 8 @ fisw & Em =t feodt W omoet &2
(A) 20 forx (B) 30 fa=

(C) 40 forx (D) 60 fomx

Ram sold his car for Rs 25,000 at which he suffered 20% loss. Find the purchase

price of the car ;
(A) 31,000 (B) 31,500
(C) 31,250 (D) 32,000

WA AT FR 25000 v A ¥ W W T 20% W TwER g
wRO% iR Y W v wm

(A) 31,000 (B} 31,500

(C) 31,250 (D) 32.000

M-B-A 22



oF. A sum of money is to be distributed among A, B, C. ) in the proportion of

S A4 e gets Rs. 2,000 more than B, what is B's share

(A) 9,000 (B} 5,000

(C) 4,000 (M) 2,000

212:4:3 F Igum o A B CDF i wfy faf B OAH #
ﬁﬁcaﬂaﬂz.ﬂmmaﬁmﬁaﬂﬁ,a}nmﬁmw#?
(A) 9,000 {B) 5,000

(C) 4,000 (D) 2,000

62, ‘i'i"h:llfﬁ!hﬁ‘\-‘ﬂ]l.lﬂﬂfxin]:—Iﬁ—ﬁ=ﬂ?

(A) 7 B) & =
i {C) 9 (D) o J
& i

3r=f§—ﬁ=t‘.lﬁ'xm=ﬂ?ﬂi'? {
(A) 7 (B) &
(€} 9 Dy -9

63. What is the areg in em? of the shaded region in the diagram below

Jom

(A) 6 B) 7
(€) 8 ) 9

M-6-A 23 P.T.O.




i owE H wraifed &3 % o3f @ A dwwe s & 2

4 HHl,

(A) 6 ® 7
(C) 8 (D) 9
64. If A completes a particular work in & days and B the same work in 24 days,
" how many days will it take if they work together 7
(4) 4 ®B) 5
(C) 6 o 7

afx A e wH W 8 T F W owm # sk B s wH W 24 Rl A
T R R, AR A UE We T FW £ oA e B e A

(A) 4 (B) 3
(C) & (7

63. lfilmh:aShnumtudﬂveadim_nflgzkmmzm.wtmm&m
average specd of car in km/h 7
(A) 62 km per hour
(B) 64 km per hour
(E) 68 kit pes bior

(D) 68 km per hour

M-6-A 24




67,

wﬁtiml-*iiyzfiﬁwﬂaﬂmmﬁiﬂfzﬂmiﬁﬁvﬂﬁﬂﬁ
ST HW W simE WE T e )

(A) 62 fedt mom
(B) 64 feit ey
(C) 66 et men

() 68 fardl oy

- What is the distance travelled h}rnmrwhiuhmmmdntnspmdnfﬂl}m

for 3 hours and 30 minutes 7
(A) 275 km (B) 280 km

(C) 285 km (D) 290 km
wmmaﬂmnﬁ{ﬂwiaﬂsﬂmm#fmﬂum
W M A owm w7

(A} 275 ferit (B) 280 fet

(C) 285 foeit (D) 290 Femi,

'E&dmﬂdﬂmﬂcmlﬂﬁmgiﬂxfhwmuyhﬂ}rsmthminﬂmclm'?

(A) 26 (B) 28

() 30 D) 32 -
4umﬁﬁq¢mﬁmuﬂqﬁaﬂilmﬂﬁmﬁﬂt_éﬂ?
(A) 26 : (B) 28

(©) 30 D) 32

M-G6-A 25 P.T.0.
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The angle between minute and hour hand of a clock when the time is 8.30 js :

(A} 65 (B} 75
(C) &5 () 90
wuﬁﬁm&mﬂm#ﬁﬁnﬂﬁﬁﬁﬁﬂmaﬂwﬁm?
(A) 65 (B) 75
(C) 85 D) 90

If the day before yesterday was Saturday, what day will fall on the day after

tomorrow 7
(A) Friday (B) Thursday

(C) Wednesday ®) Tucsday
wﬂtﬁﬂﬂrﬁmﬁiﬂﬁmm,tﬂwﬂﬁ#ﬂrmﬁm?

(A) Y[Far (B) TEER

(C) gwm (D) wremEr )

* Shubham’s driver slept at 7.45 p.m.. If he rose at 12 noon, for how many hours
did he sleep ?

(A) 5 hours 15 min. (B) 16 hours 15 min,

(C) 12 hours. (D) 6 hours 45 min.

wm'ﬁwﬂsﬂmtﬂmmlmwﬁmuﬁmtm
e 62w € 2

(A) 5 W2 15 fife (B) 16 =& 15 fomz

(n::]nﬂi. M 6 " 45 fie

M-6-A 26
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T1. _Search for

r
o
H

H

Mﬂ'l-tz

i

(A) 4 Kand 4 T
(C) 6 Kand 4T
K T a5 ot wiw

M

L~ BT
Ll X 8

C - 0o

C- o

SENERAL AWARENESS & PSYCHOMETRIC

k4
i
K
¥
c

MN-< =" « 1

L
H
3
A

(1

Lk wm X C

(A) dK a4 T

(C) 6 KT T

W
2
G
L
&

Er 00D %
CT=no
Q= O m

X < " o

E
Q
5
F
1]

N owm e

moEm s e T

the letters K and T and report their number of occurrences :

E K F M H kg 1 & 2]
VS HET W I v H R
Ihﬂi 5 A, i ] *
M 1l 5 E E T I O H
& VH D A N U &

(BY 5Kandd T

Dy 6 Kand5T
H# T v w w9
SH'FI'IHI U A L M
Y §F H E T W F'H W R
A N O §F 5§ & TuU T B
H. I %5 E E T i J O H
24 KE-% M D A M OO K

(B SKam4rT

D)y 6K™MIST

T2, Igeti:rtnhmtedugumcrm“hmpmphdimwithme:

(B) Agree
(€) Somewhat apree

(D} Disagree

AT g o O F W A w owww v oww ¢

(A) Strongly agree

(A) TOEE o

(B) wewm

(C) 9 wEesw
(D) sawm
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7.
J

o/

4.

The only good job is one that pays d lot of money
{A) Strongly agree

(B) Agree

(C) Somewhat agree

(I3} Disagree

UEAR Sl ¥ OSF R oW wgm wm dm o dm &
(A) TEaET wowm

(B) wEm

(C) dig W

(D) =oewE

lheli::vuintatingﬁﬂks,hmam:whenynur]mkisudih}run.h'saﬂﬁnm
(A) Strongly agrec

(B) Agree

(C) Samewhat agree

D) Bhisgree

ﬁﬁﬁwﬂ#ﬂﬁmmm{ﬁﬁﬂmmmmﬂiﬂ
@t w dw £

(A) sEagEs wmm =

(B) weHa

(C) W wew
(D) smeww
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5. Of the four choices, choose the picture that would go in the cmpty box so that

the two bottom pictures are related in the same way as the fop two are related,

b ﬁﬁl

—
——

G
sl » o

-

(€ R (D) m

mﬁﬁﬁﬁ#.wﬁiﬁgﬁqﬁmﬁmﬂmnﬁﬂﬁ i
% fm =i ww wahm Wi F 9 wahm §

Wi
&
g - F wmL

(C) TR (D) mr
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jﬁ/" Of the four chowes, choose the picture that would g0 in the empty box so the
the two bottom pictures are related in the same way a5 the top two are related

PR
@
w S o W\
© EEBE © C%s

mﬁﬂﬁ#,mﬁ:ﬁﬁﬂmﬂﬁﬁmaﬁﬁﬁ
% fo o wr wdun o 99 v @) G 2




i

Tis

- The day aficr the day aficr tomorrow 15 four davs before Monday. What duy is

it wodey 7
(A) Tossdey (B) Friday
(©) Monday (D) Sunday

ﬁitihﬂmmﬁqmwﬂwﬁqﬂﬁmélm
o & b

(A) S (B) Y&Fan

(C) == (D) FEw

| wa o Soee Sings immedianl ¥, without being able to wait.
(A) Sommgh agere (B) Agree

(€1 Scomewtm agree (D) Disagsee
fﬂi“_tﬁmmﬁqr

(A) s == (B) weww

(C) o= === (D) swEa

hlh_ﬂu drugs which are likely 10 affect your driving, You

[T S Se——

(B) T & st dowe of Medicine
(O B & oy of walcoffee
(D) Nx @S
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8. 1f my passenger(s) try to pressure me to drive faster, | -
W

{A) lgnore them (B)  Argue with them
(C) Refuge politely (D) None of these

uﬁﬂnmﬂggmmhmﬁaﬁﬁwmmwmﬁﬁfﬂﬁm
LTt S A

(A) 39 ® =R 3 ¢ (B) =% wwm awm g
C) &4 w2 D) 8 & %5E 5

81, 1 believe there's nothing wrong with breaking a few traffic regulations as long as
", you have good reflexes {are an alers driver), -

(A) Strongly agree (B)  Apree

(C) Somewhat agree (D) Disagree
ﬂﬂm?ﬂﬁwﬁmﬁﬁﬁiﬂ‘ﬁaﬁﬁﬂﬁtﬂwﬁ?ﬁiﬁim
SALI R I (T e — Tew f)

(A) TEorEs e (B) wEwm

(C) ug wemm (D)  =aEE

82. 7 You are stuck in a traffic jam on a hot summer day. What do you normally do
v i this semtion 2
(A) I try 1o find a way to get through the traffic {e.g. drive on the shoulder of
the road, zigzag through the cars, elc. ).
(B) 1 vent m]: frustration by swearing or honking my horn,
(C) I catch up on work/homewordk,

(D) 1 just sit back and ry my best to wait patiently,

M-6-4 32
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R OEE O S S Moy 9w § va oW £ 3w fiwfa 7 s omew a=m
L = _ B B

RIS S oW o owiw owe oW e s f (H e
® = = s, 36§ wem @ frm, af

= S e s RS w few oo 6

0 = === 7 wz T %

IS = & o d oogh wm oww f e A g W

.. You'ss shost W0 enter 4 construction zone with speed limit of 20 km'h. No one

seems i Be Bllowing that speed limit, however: the other drivers are driving
faer How would you respond 7

(A) | would speed up with the rest of (mffic

(B} 1 weuld Sow down a little, but I wouldn't g6 the speed limit
(C) 1 weuld slow down to the speed limit

(D) Neoe of the above

== N SN oW o i S ouw uw feiw odw d we o oas
. S S = W dmowm wen W s & s ouew o omE
= W f 1 3w 59 whfem & 7

AR e S = aw o e

@ 2 o om v wiu, o X R dw ® oWy T wd
O fF W @5 € e 9w o e

D =w 3 = =

B4, ﬁi—ﬁi&nnﬁmrmnemﬂujvmﬁtyiuﬂmm?

o

(&) Gresmer of Haryam

= ﬂh‘-d}hm
(C) Edecssion MEmister of Harvana
(EM Neme of & shove
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85,

87,

S W U e favatee w oweh e § oo
(A) BT % Teaam
(B) wATm # g
(C) sfamm = fomr o)

(D) ¥ | % w

Birthday of which of the following is celebrated on Basam Panchami 7
{(A) Swami Dayanand. (B) Chhotu Ram,

(C) Sardar Patel, (D} Lal Bahadur Shashiri.
ﬁﬁf‘ﬁrﬁmﬂ‘ﬁﬁmnﬁﬂaﬁﬁﬂmwmé?
(A) Tl =aE (By ®R ™

(C) WER v (D) & =wRT T

At which place of Haryana did Lord Krishna preach the message of Geeta 7
(A) Ambala (B) Sonipat

(C) Yamuna Nagar (D) Kurukshetra
Mﬁﬁnmwwm#rﬁmmmﬁmml?
(A) s (B) writym

(C) TR (D) e
WuhhuwwwSumdmm:boundE}rnIHaryammmh?

(A) 4 @) s

(C) 6 oy 7=

S R W Wt W s o w2 )

@4 ®) s

(C) 6 oy 7
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